[ Efficiency vs vertpos |

—_
+—

=
]
>
0
>
>
[5)
o

Q@
3]

£
[}

Ratio

Efficiend

efficiency vs vert z

Ratio

0.2
0.18
0.16
0.14
0.12

0.1
0.08
0.06]
0.04
0.02

...........................

...........................

L AT B

q

0.6F

o.8F

1072

10 0?
TP vertr (cn%)

[ fake+duplicates vs vert r

fake+duplicates vs. r

Ratio

1_ """""" :'"‘

—=— DQM_old
—e— DQM_wrong

—— DQM_V0001_R000000001__Global__ CMSSW _X Y _Z |

N

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

e

[ Efficiency vs. sim PV z |

~0.02

>
9
2
>
3
Qo
=
]
0
0
0
0

Ratio

10 20 30
TP vert z (cm)

.018
.016
.014
.012

0.0%F
.008F

.006
.004
.002

0

.U

=

17273 45

Sim. PV z (cm)

fake+duplicates vs. z

Ratio

1Y

.............

1.2

=

LIe-ees LERREE

...........

-10

0
track

[ fake+duplicates vs Sim. PV z |

fake+duplicates rate vs Sim. PV z

Ratio

0.8

10 20
ref. point z (cm)

0.7

0.6

0.5

0.4

0.3

0.2

-5

-

A2 0 2

Sim. PV z (cm)



	Contents
	Page 1


